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#RE. HERBEI RN —RZSEXR
def Isql(x, y, iPrint = 0):
n = len(x)
# IR EDFHE
#si: 301 DFN
#sij: ZHi & ] DFED
sx = sum(X)
avx =sx/n
sy = sum(y)
avy =sy/n
sxx = sum([x[1] * x[i] for 1 in range(n)])
avxx = sxx /n
sxy = sum([x[1] * y[i] for 1 in range(n)])
avxy = sxy /n
syy = sum([y[i] * y[i] for 1 in range(n)])
avyy = syy /n
delta =n * sxx - sx * sx

m/INTFE

avi: i D
sij: 1% 0D 14

#y=a+bx
b= (n* sxy - sx * sy) / delta
a=avy-b *avx

HIRED T Y2 REDEERE o(e)
sum_ei2 = sum([pow(y[i] - a - b * x[i], 2) for i1 in range(n)])
sigma_ei = sqrt(sum_ei2 / (n - 1))
sigma y2 = avyy - avy * avy - pow(avxy - avx * avy, 2) / (avxx -
avx * avx)
sigma_y = sqrt(sigma_y?2)

#INTA—R a, b DIRLEFRE SRE R

Sa =sigma y * sqrt(avxx) / sqrt((n - 2) * (avxx - avx * avx))
Sb =sigma_ y /sqrt((n - 2) * (avxx - avx * avx))
r = sxy / sqrt(sxx * syy)
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# RYIEN S \DT, st E. RERE . HERKIE
# BEEY (v, ERBES) TIRY
# HEEHOMEX. {key:val}
res = {'sx': sx, 'sy': sy, 'sxx': sxX, 'sxy': sxy, 'syy': syy,
'Sa": Sa, 'Sb': Sb, 'r
return a, b, res

def main():
#wRIN_REELT
ai = Isq1(xfit, yfit, 0)
# HEEHITL ai2] ITAD
res = ai[2]
#a, b DIFLERZE, FHRRE
# HEERDER [ A key|TRITES
Sa =res['Sa']
Sb = res['Sb']
r =res['r']

Vth = -ai[0] / ai[1]
grad = ai[1]
mu = grad * grad / (W * Cox/2.0/L)

# IREGIBRINSVih & L DIEERELZFE
SVth = sqrt(pow(Sa / ai[ 1], 2) + pow(Sb * ai[0] / ai[1] / ai[1], 2))
Smu=2.0 * mu * Sb/ ai[l]

# I5—N—{EITST70TAYE
ax4.errorbar(xecheck, ymu, yerr = ySmu,
capsize = 3.0, fmt = ‘0’, markersize = 3.0, ecolor = ‘b’,
markeredgecolor ='b', color = 'w')

"1, 'sigma_ei": sigma_ei, residual: sum_ei2}
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